KURUKSHETRA UNIVERSITY

KURUKSHETRA

Established by the state legislature Act-XII of 1956 ("A+" Grade,NAAC Accredited)



RESULT GAZETTEE

OF THE

MASTER OF ART SEMESTER-01 EXAMINATION

OCT- 2024

COPYRIGHT RESERVED

PUBLISHED BY AUTHORITY

PRICE :RS.

(Including Postage)

KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA

Result of each candidate is shown in the column of Result. Marks shown for Pass candidates and other Abbreviations are as below.

Abbreviation Stands For

'C' Compartment and to re-appear in the subject shown, till OCT- 2026 unless otherwise

Eligible/Stated.

'RLA' Result later for non-receipt of Awards form the Examiner or discrepancy therein.

'RL(UMC)' Result later for alleged use of Unfair Means.

RPFD Result provisional for want of dues mentioned against each.

'CC' Result is cancelled due to non-receipt of lower exam result/documents/s.

'RP' Result provisional for settlement of Improvment of Marks / Division.

'RPR' Result later due to Discrepancy in marks or any other dispute.

'RLD'

Marks later due to DIVISION. 'ML'

Other Contents.

- 1. List of Candidates.
- 2. Pass percent.
- 3. Merit list.

IMPORTANT NOTES

- THIS RESULT GAZETTE MUST BE READ ALONGWITH "ADDENDA AND CORRIGEND. SUPPLEMENTARY LIST/S AND THE NOTIFICATION/S IN PARTIAL SUPERSESSION OF THE RESULT DECLARED IN THE GAZETTE, IF ANY.
- College candidates will receive their Detailed-Marks-Cards (DMC) through the Principal of their Institutions. In case of nonreceipt candidates should write through Principal not direct.
- All private candidates will receive the DMC within ten days from the date of declaration of the result. If any candidate does not receive the same within fortnight of the declaration of the result or any result remains 'RL' the candidate should write to Asst/dy. Registrar Tell. No. 238582 and EPABX-2461.
- No Application for original Detailed-Marks-Card/Certificates will be entertained after a period of three months from the date of declaration of result.
- All enquiries regarding result should be addressed to Dy/Asst. Registrar (Exam-I) KU Kurukshetra.
- Re-evaluation of Answer-book(s) in Theory paper(s) is permissible within 20 days of the date of publication of result or 15 days of dispatch of DMC by the University, whichever is later, on submission of Application form which can be had from the Manager, Printing and Publications KURUKSHETRA UNIVERSITY, KURUKSHETRA on payment of Rs. 10/- at the counter or by remitting Rs. 30/-, if required by Regd. Post. It must be accompanied by Original DMC and Re-evaluation fee of Rs. 300/- per paper. The application should be addressed to Asst. Registrar (Re-evaluation) Kurukshetra University, Kurukshetra - 136119, Telephone No. 2455 (University EPABX Exchange).
- Examination Admission form can be had from the registered book-sellers of all the towns on the payments of Rs. 10/- per form or from the Manager, Printing and Publications Kurukshetra University, Kurukshetra - 136119 on remittance of Rs. 35/- (including Postage) per admission form.
- University shall not be responsible for delay or misplacement of DMC's sent through UPC / Registered Post.
- Only latest Examination Admission form which costs Rs. 10/- will be accepted, otherwise Fee & late fees will be charged.
- 10. Late fees will not be charged, if the Admission Form is submitted within 25 days from the date of declaration of result or within 15 days from date of dispatch of DMC whichever is later.

Date: 01-03-2025

Roll no.

Regn No.

Name

KURUKSHETRA UNIVERSITY KURUKSHETRA , HARYANA

Result

RESULT GAZZETE OF MASTER OF ART SEMESTER-01 EXAM - OCT- 2024

Father's name

BRANCH 13 (MASS COMMUNICATION-CBCS-CDOE)

	5501	CENTRE FOR DISTANCE & ON	LINE EDUCATION KURUKSH	IETRA		
0245125319	24-DEO-451	RAJ KIRAN	RAMKUMAR	ABS		
0245125320	24-DEO-454	RAVI RAJ	ATIRANJAN PRASAD SRIV	0231/0500	SGPA	5.20
0245125321	24-DEO-455	POOJA	INDARPAL	ABS		
0245125322	24-DEO-458	NITIN MALHOTRA	MANJEET MALHOTRA	ABS		
0245125323	24-DEO-476	ARVINDER SINGH	AMARJIT SINGH	0401/0500	SGPA	9.20
0245125324	24-DEO-461	UJJWAL ANURAG	VINOD SINGH	0382/0500	SGPA	8.80
0245125325	24-DEO-462	ALLWIN DSOUZA	EDWARD	ABS		
0245125326	24-DEO-477	TANMAYA DAS	PRAVAT KUMAR SAHU	ABS		
0245125327	24-DEO-463	MANSI	RAJA RAM PRASAD	0368/0500	SGPA	8.40
0245125328	24-DEO-464	PARDEEP KUMAR	KASTURI LAL	0330/0500	SGPA	7.40
0245125329	24-DEO-466	GURBHEJ SINGH	NAND SINGH	0327/0500	SGPA	7.60
0245125330	24-DEO-468	ANANYA KARAN SRIVASTAVA	SANDEEP KUMAR SRIVAS	0398/0500	SGPA	9.00
0245125331	24-DEO-469	FARAZ HUSSAIN	MUNAWAR HUSSAIN	ABS		
0245125332	24-DEO-470	SIMRANJEET KAUR	BALWINDER SINGH	0249/0500	SGPA	5.40
0245125333	24-DEO-471	PANKAJ KAPOOR	DINA NATH KAPOOR	0292/0500	SGPA	6.80
0245125334	24-DEO-472	SATENDRA KUMAR	DHARAMPAL SINGH	0268/0500	SGPA	6.40
0245125335	24-DEO-473	TWINKLE	VIJAY KUMAR	0355/0500	SGPA	8.20
0245125336	24-DEO-474	NAIR MITHUN SURENDRANAT	HSURENDRANATHAN NAIR	0308/0500	SGPA	7.00
0245125337	24-DEO-475	SOURABH	ANAND PRAKASH	RE- MAMC-	101 MA	MC-102 MAMC-104 MAMC-105
0245125338	24-DEO-452	SATWANT SINGH	RAJINDER SINGH	ABS		
0245125339	24-DEO-453	DEV DARSHAN SHARMA	MANGAL CHAND SHARMA	0342/0500	SGPA	8.00
0245125340	24-DEO-456	YASH TANWAR	NEERAJ TANWAR	0331/0500	SGPA	7.60
0245125341	24-DEO-457	PRASHANSA JAIN	ASHISH JAIN	0399/0500	SGPA	9.20
0245125342	24-DEO-460	ABHISHEK GHOSH	ASHISH GHOSH	0363/0500	SGPA	8.20
0245125343	24-DEO-465	APOORVA DUBEY	SURENDRA KUMAR DUBEY	0412/0500	SGPA	9.40
0245125344	24-DEO-467	SUMIT	SURENDER SINGH	0352/0500	SGPA	8.00

KURUKSHETRA UNIV Dr.ANKESHWAR PRAKASH
CONTROLLER OF EXAMS

Roll No. 245125320

24-DEO-454 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: OCT-2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : RAVI RAJ

: ATIRANJAN PRASAD SRIVASTAVA Father's Name

: NILU SRIVASTAVA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	36	9		40AG	100	С	5	04.0	20.0
2	MAMC-102 WRITING SKILLS	40	AB	*	40AG	100	Р	4	04.0	16.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	44	12		40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	50	AB		40AG	100	В	6	04.0	24.0
5	MAMC-105 COMPUTER APPLICATIONS	40	AB		40AG	100	Р	4	04.0	16.0
	TOTAL		0231			0500			20.0	104.0
	GRAND TOTAL		0231			0500				

PASSED AND HAS OBTAINED: SGPA 5.20 RESULT:

> DATED: MAR 01,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245125323

Regn. No. 24-DEO-476

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ARVINDER SINGH
Father's Name : AMARJIT SINGH
Mother's Name : MANJINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	61 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	50 27	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	59 26	40AG	100	0	10	04.0	40.0
4	MAMC-104 MEDIA & SOCIETY	58 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	55 13	40AG	100	А	8	04.0	32.0
	TOTAL	0401		0500			20.0	184.0
	GRAND TOTAL	0401		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	MAR 01,2	2025				



Roll No. 245125324

Regn. No. 24-DEO-461

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : UJJWAL ANURAG
Father's Name : VINOD SINGH
Mother's Name : URMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 19	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	49 21	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	64 19	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	54 22	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	63 23	40AG	100	0	10	04.0	40.0
	TOTAL	0382		0500			20.0	176.0
	GRAND TOTAL	0382		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

		(CI	erk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	MAR 01,	2025			



Roll No. 245125327

Regn. No. 24-DEO-463

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANSI

Father's Name : RAJA RAM PRASAD Mother's Name : SHOBHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55 23	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	53 AB	40AG	100	В	6	04.0	24.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 23	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	54 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0368		0500			20.0	168.0
	GRAND TOTAL	0368		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

DATED:	MAR 01,	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245125328

Regn. No. 24-DEO-464

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : PARDEEP KUMAR
Father's Name : KASTURI LAL
Mother's Name : PUSHPA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	47 20	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	32 16	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 20	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	49 19	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	47 27	40AG	100	А	8	04.0	32.0
	TOTAL	0330		0500			20.0	148.0
	GRAND TOTAL	0330		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	MAR 01,2	2025				



Roll No. 245125329

Regn. No. 24-DEO-466

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : GURBHEJ SINGH
Father's Name : NAND SINGH
Mother's Name : PARMJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	47 15	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	50 15	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	54 16	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	49 19	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	49 13	40AG	100	B+	7	04.0	28.0
	TOTAL	0327		0500			20.0	152.0
	GRAND TOTAL	0327		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

		(Clerk)		(Assistant)	
Checked by	1			2		
KURUKSHET	ERA					
DATED:	MAR 01,2	025				

Data of issue

Bann

Roll No. 245125330

Regn. No. 24-DEO-468

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ANANYA KARAN SRIVASTAVA
Father's Name : SANDEEP KUMAR SRIVASTAVA
Mother's Name : SNEHLATA SRIVASTAVA

Mother's Name : SNEHLATA SRIVASTAVA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 18	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	58 20	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	55 21	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	62 27	40AG	100	0	10	04.0	40.0
	TOTAL	0398		0500			20.0	180.0
	GRAND TOTAL	0398		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	MAR 01,	2025			



Roll No. 245125332

Regn. No. 24-DEO-470

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : SIMRANJEET KAUR
Father's Name : BALWINDER SINGH

Mother's Name : JAGJIT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	42 19	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	46 AB	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	40 AB *	40AG	100	Р	4	04.0	16.0
4	MAMC-104 MEDIA & SOCIETY	49 AB	40AG	100	С	5	04.0	20.0
5	MAMC-105 COMPUTER APPLICATIONS	53 AB	40AG	100	В	6	04.0	24.0
	TOTAL	0249		0500			20.0	108.0
	GRAND TOTAL	0249		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 5.40

KURUKSHET	MAR 01,20 ERA				
Checked by			2.		
Checked by	1	(Clerk)		(Assistant)	_
		(Clerk)		(Assistant)	



Roll No. 245125333

Regn. No. 24-DEO-471

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : PANKAJ KAPOOR
Father's Name : DINA NATH KAPOOR
Mother's Name : SANTOSH KAPOOR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	52 23	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	51 AB	40AG	100	В	6	04.0	24.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	61 AB	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	52 AB	40AG	100	В	6	04.0	24.0
5	MAMC-105 COMPUTER APPLICATIONS	53 AB	40AG	100	В	6	04.0	24.0
	TOTAL	0292		0500			20.0	136.0
	GRAND TOTAL	0292		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 6.80

DATED:	MAR 01,	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245125334

Regn. No. 24-DEO-472

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : SATENDRA KUMAR
Father's Name : DHARAMPAL SINGH
Mother's Name : BRIJESHI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	41 11	40AG	100	В	6	04.0	24.0
2	MAMC-102 WRITING SKILLS	39 10	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 5	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	56 AB	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	55 AB	40AG	100	B+	7	04.0	28.0
	TOTAL	0268		0500			20.0	128.0
	GRAND TOTAL	0268		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 6.40

DATED:	MAR 01,	2025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245125335

Regn. No. 24-DEO-473

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : TWINKLE
Father's Name : VIJAY KUMAR

Mother's Name : ILA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	49 17	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	52 22	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	56 20	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	53 22	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	50 14	40AG	100	B+	7	04.0	28.0
	TOTAL	0355		0500			20.0	164.0
	GRAND TOTAL	0355		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

onconcu s,		(Cle	erk)		(Assistant)
Checked by	1.			2.	
KURUKSHET	ERA				
DATED:	MAR 01,	2025			



Roll No. 245125336

Regn. No. 24-DEO-474

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : NAIR MITHUN SURENDRANATH

Father's Name : SURENDRANATHAN NAIR
Mother's Name : SUDHA SURENDRANATH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	35 18	40AG	100	В	6	04.0	24.0
2	MAMC-102 WRITING SKILLS	38 16	40AG	100	В	6	04.0	24.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	35 17	40AG	100	В	6	04.0	24.0
4	MAMC-104 MEDIA & SOCIETY	58 20	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	55 16	40AG	100	А	8	04.0	32.0
	TOTAL	0308		0500			20.0	140.0
	GRAND TOTAL	0308		0500				

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED :	MAR 01,2025		
KURUKSHET	ERA		
Checked by	1.	2	

(Clerk)

Banan

Data of issue _____

Roll No. 245125337

24-DEO-475 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: OCT-2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : SOURABH

: ANAND PRAKASH Father's Name

: RENUL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	24	AB	F	40AG	100	F	0	04.0	0
2	MAMC-102 WRITING SKILLS	22	AB	F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	40	AB	*	40AG	100	P	4	04.0	16.0
4	MAMC-104 MEDIA & SOCIETY	30	AB	F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	36	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0500			20.0	016.0

MAMC-101 MAMC-102 MAMC-104 MAMC-105 RE - TILL OCT- 2026 IN: RESULT:

DATED: MAR 01,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245125339

Regn. No. 24-DEO-453

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : DEV DARSHAN SHARMA Father's Name : MANGAL CHAND SHARMA

Mother's Name : SNEH LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55	14	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	56	11	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	62	11	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	59	7	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	57	10	40AG	100	А	8	04.0	32.0
	TOTAL		0342		0500			20.0	160.0
	GRAND TOTAL		0342		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125340

Regn. No. 24-DEO-456

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : YASH TANWAR
Father's Name : NEERAJ TANWAR
Mother's Name : NEHA TANWAR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	52	22	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	49	26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	32	24	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	37	25	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	38	26	40AG	100	B+	7	04.0	28.0
	TOTAL		0331		0500			20.0	152.0
	GRAND TOTAL		0331		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

		(Clerk)		(Assistant)	
Checked by	1			2		
KURUKSHET	ERA					
DATED:	MAR 01,2	025				



Roll No. 245125341

Regn. No. 24-DEO-457

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : PRASHANSA JAIN
Father's Name : ASHISH JAIN
Mother's Name : MEENU JAIN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 23	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	58 17	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	61 19	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	56 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	63 23	40AG	100	0	10	04.0	40.0
	TOTAL	0399		0500			20.0	184.0
	GRAND TOTAL	0399		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	MAR 01,	2025				



Roll No. 245125342

Regn. No. 24-DEO-460

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024

(MASS COMMUNICATION-CBCS-CDOE)

Name : ABHISHEK GHOSH
Father's Name : ASHISH GHOSH
Mother's Name : JAYATI GHOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	52 16	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	51 16	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	54 18	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	56 18	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	58 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0363		0500			20.0	164.0
	GRAND TOTAL	0363		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

		(Cleri	k)		(Assistant)	
Checked by	1.		2	2		
KURUKSHET	ERA					
DATED:	MAR 01,	2025				



Roll No. 245125343

Regn. No. 24-DEO-465

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : APOORVA DUBEY

Father's Name : SURENDRA KUMAR DUBEY

Mother's Name : SADHNA DUBEY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	59 23	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	56 24	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	55 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	59 26	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	57 29	40AG	100	О	10	04.0	40.0
	TOTAL	0412		0500			20.0	188.0
	GRAND TOTAL	0412		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

KURUKSHET Checked by		2.		
Checked by	 (Clerk)		(Assistant)	_



Roll No. 245125344

Regn. No. 24-DEO-467

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : OCT- 2024 (MASS COMMUNICATION-CBCS-CDOE)

Name : SUMIT

Father's Name : SURENDER SINGH Mother's Name : SATISHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	50 12	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	38 20	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	59 18	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	57 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 14	40AG	100	А	8	04.0	32.0
	TOTAL	0352		0500			20.0	160.0
	GRAND TOTAL	0352		0500				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	MAR 01,2025										
KURUKSHETERA											
Checked by	1.		_ 2								
		(Clerk)		(Assistant)							

